TEST: MINULY CAS PROSTY (sloveso BYT a pravidelna slovesa)

1. Preved ndsledujici udaje do vét se slovesem byt (napr. Narodil se 14. brezna 1879).

ALBERT EINSTEIN

Birthdate: 14th March 1879
Nationality: German

Occupation: scientist

Interests: physics and mathematics
1Q: 160

1st wife: Mileva Maric

2nd wife: Elsa Loeventhal
Children: Lieserl, Hans, Eduard

2. Do textu doplhi slovesa v zdvorkdch v minulém Case.

In 1895 Einstein .......co........ (move) to Switzerland and .................. (work)
for the Swiss Patent Office. And the University of Bern. In 1922 he
................... (accept) the Nobel Prize. In 1933 he ................... (visit) the USA
and he ................... (stay) there. Durind the war he .................. (support)
the US Army and ......cccceceneee (create) the idea of nuclear weapons. All
his life he ................ (love) music and he ............... (want) to be a musician.
He e, (play) the violin. Albert Einstein ............... (die) at the age of

3. Odpovéz na otdzky:

Was he good at science? .......ccccceevveceecienen.
Were his ideas dangerous? ........cccccocveeeernennen.
Who were his children? ........cccoveivinvivennennns
What was his dreamjob? .........ccceccevevvviennnenne



